STAT 356 DISCUSSIONS /CASE STUDY
Suppose you are called in as a consultant to analyze a large dataset, which consists of 20,000 observations and 20 variables. When you started the analysis, you obtained the following correlation matrix (only a part of it is given):

	
	X1
	X2
	X3
	…
	X20

	X1
	1
	0.82
	1
	…
	0.72

	X2
	
	1
	0.52
	…
	0.51

	X3
	
	
	1
	…
	…

	…
	
	
	
	…
	…

	X20
	
	
	
	
	1


You are concerned with the Corr(X1,X3)=1.

a) List two of your suspicions on what the reason of this perfect correlation could be. 

b) Which one of your suspicions is more likely? Explain why.

c) State what kind of approach you would follow to check the two reasons you stated in part a), assuming you have data at your hand.

